PATCHWORK
THROW

This beautiful throw is
simpler than it looks.

&4 YARN

; Ella Rae Classic
Colour No. Quantity x 100g balls
col A 13 4
col B 15 3
col C 34 1

i col D 12 4
col E 28 1
col F 37 1
MEASUREMENTS
1 Square = approx 15 cm x 15 cm
Width 110 cm
Length 135 cm

& NEEDLES

1 pair 4.50mm needles (USA 7)(UK 7)

TENSION

20 sts and 24 rows measured over
10cm (approx 4”) of st st using
4.50mm needles.

SPECIAL ABBREVIATIONS

wyrn (wrap yarn round needle) - wrap
yarn around needle to make a stitch,
always used before a purl st.

yf (yarn forward) - bring yarn to front
to make a stitch, always used before a
knit st.

SQUARE 1 (Ribbed sq.)(4 triangles
form 1 square)(Make 80)

Using 4.50mm needles and col A,
cast on 27 sts.

Row 1 Purl.

Row 2 K2tog, k to last 2 sts, k2tog.
Row 3 Purl.

Change to col B.

Row 4 P2tog, p to last 2 sts, p2tog.
Row 5 Knit.

Row 6 K2tog, k to last 2 sts, k2tog.
Row 7 Purl.

Row 8 K2tog, k to last 2 sts, k2tog.
Change to col C.

Row 9 Knit.

Row 10 P2tog, p to last 2 sts, p2tog.
Row 11 Purl.

Row 12 K2tog, k to last 2 sts, k2tog.
Row 13 Purl.

Change to col D.

Row 14 P2tog, p to last 2 sts, p2tog.
Row 15 Khnit.

Row 16 K2tog, k to last 2 sts, k2tog.
Row 17 Purl.

Row 18 K2tog, k to last 2 sts, k2tog.
Change to col E.

Row 19 Knit.

Row 20 P2tog, p to last 2 sts, p2tog.
Row 21 Purl.

Row 22 K2tog, k to last 2 sts, k2tog.
Row 23 Purl.

Row 24 K2tog, k1, k2tog.

Row 25 P3tog.

These 25 rows form pattern repeat.
Sew 4 triangles tog to form a square.
(20 squares made)

SQUARE 2 (Plain Sq.)(Make 4 x col A,
6x col D, 7 x col F)

Using 4.50mm needles, cast on 27 sts.
Work in st st until length measures

15 cm. Cast off.

SQUARE 3 (Edge Sq.)(Make 5 x col A,
4 x col D, 5 x col F)
Using 4.50mm needles, cast on 27 sts.
Work 4 rows st st, beg with a knit row
(this becomes WS).

Please note: Some Ella Rae Classic Wool colors listed may be discontinued and/or renumbered.

Please feel free to substitute the colors of vour own choosing.



Next row (WS) Purl.

Cont working in st st until length Sq3 Sq3 Sq3

measures 15 cm. Sq1 welB Sq1 il Sq1 <l Sq1
Cast off.

SQUARE 4 (Flower Sq.)(4 triangles form

1 square) (Make 24 x col A, 24 x col B) Sq3 Sq 4 5q2 Sq4 Sq2 5q4 593
Using 4.50mm needles, beg with 1 st col A col A col F col B col A col D col F
on needle.

Row 1 Yf, k1.

Row 2 Yf, k2. Sq2 Sq 2 Sq 2

Row 3 Wyrn, p1, yf, k1, wyrn, pl. Sq1 col F 5q1 col A Sq1 col A Sq1
Row 4 Yf, ki1, p3, k2.

Row 5 Wyrn, p2, [k1, yf] twice, k1, p2.

Row 6 Yf, k2, p5, k3.

Row 7 Wyrn, p3, k2, yf; k1, yf, k2, p3. Sq 3 Sq 4 Sq 4 Sq 4 Sq . Sq - Sq ¢
Row 8 Yf, k3, p7, kd. col F col B col D col A col F col B col D
Row 9 Wyrn, p4, k3, yf, k1, yf, k3, p4.

Row 10 Yf, k4, p9, k5.

Row 11 Wyrn, p5, k4, yf, k1, yf, k4, p5. Sq 4 Sq2 Sq 2

Row 12 Yf, k5, p11, k6. 5q 1 col D Sq1 col F sl col A 5q1
Row 13 Wyrn, p6, k2togtbl, k7, k2tog, p6. 3

Row 14 Yf, k6, p9, k7. Bt “

Row 15 Wyrn, p7, k2togtbl, k5, k2tog, p7. Sq3 Sq 4 Sq 4 Sq 4 Sq 4 Sq 4 Sq3
S D Ve el col D col A col D col B col D col A col F
Row 17 Wyrn, p8, k2togtbl, k3, k2tog, p8.

Row 18 Yf, k8, p5, k9. -

Row 19 Wyrn, p9, k2togtbl, k1, k2tog, p9.

Row 20 Yf, k9, p3, k10. o 5q2 o 5q2 o Sq 4 o
Row 21 Wyrn, p10, sl 1, k2tog, psso, p10. q col F q col A q col D 4
Row 22 Wyrn, p to end.

Row 23 Yf, k to end.

Row 24 Yf, k to end. Sq3 Sq 4 Sq 2 ‘Sq 4 Sq2 Sq 4 Sq3
Row 25 Wyrn. pto.end. wlA | colB col F colA | colF col B col F
Cast off.

Sew 4 triangles tog to form a square.

(12 squares made) 5q3 5q3 Sq3

MAKING UP 5q1 col A S5q1 col A S5q1 col D Sq1

Sew squares tog following diagram.

Errata:

Square 2(Plain Sq.) ...make 5 x col A NOT 4
Square 4(Flower Sq.)...make 20 x col A NOT 24
Layout for throw, reading rows horizontally:

Row 1Sq1,Sq3colD,Sqg1,Sg3colA, Sq1,Sq3colF,Sq1.

Row 2 Sq 3 col A,Sq 4 col A, Sq 2 col F,Sq 4 col B, Sq 2 col A, Sq 2 col D, Sq 3 col F.

Row 3Sq1,Sg2colF,Sq1,Sq2colA, Sq1,Sq2colA, Sql.

Row 4 Sq 3 col F, Sq 4 col B, Sq 2 col D, Sq 4 col A, Sq 2 col F, Sq 4 col B, Sq 3 col D.

Row 55q1,Sq2colD,Sq1,Sq2colF,Sq1,Sq2col A Sq 1.

Row 6 Sq 3 col D, Sq 4 col A, Sq col D, Sq 4 col B, Sq 2 col D, Sq 4 col A, Sq 3 col F.

Row 75Sq1,Sq2colF,Sq1,Sq2colA Sq1,Sqg2colD, Sq 1.

Row 8 Sq 3 col A, Sq 4 col B, Sq 2 col F,Sq 4 col A, Sq 2 col F, Sq 4 col B, Sq 3 col F.

Row95Sq1,Sq3colA Sql,Sqg3colA, Sq1l,Sq3colD,Sq1l.




